F. A. Benson, Western International High School, Detroit, Michigan

SELECTED AND CONSTRUCTED RESPONSE ITEMS C 4.5B

Provide macroscopic examples, atomic and molecular explanations, and mathematical representations (graphs and equations) for the pressure-temperature relationship in gases.

C4.5B:  Provide macroscopic examples, atomic and molecular explanations, and mathematical representations (graphs and equations) for the pressure-temperature relationship in gases.

1. Charles and Gay-Lussac's Law uses the following mathematical formula:

a. PV/T=C

b. PV = C

c. V = CT

d. P = CT

2. Gay Law states that the pressure of a gas is __________   ____________ to its _______________.
a. inversely proportional; temperature

b. directly proportional; temperature

c. inversely proportional; mass
d. directly proportional; mass

3. In order to solve Gay-Lussac’s law properly the ____________ must ____________.

a. moles vary

b. temperature; be in Celsius

c. volume vary

d. temperature;  be in Kelvins

4.  Convert 122.5 
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C to Kelvins.


a. 395.65
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K

b. 395.5  
[image: image3.wmf]o

K


c. 150.65 
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d. 150.5 
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5.  A sample of Carbon dioxide has a pressure of 136.4 kPa at a temperature of 121.6 
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C.  Assuming that the volume is constant, what will the pressure be when the temperature is 15.3 
[image: image7.wmf]o

C.

a. 15.3 kPa

b. 323.56 kPa

c. 17.16 kPa

d. 16.1 kPa

States of Matter
C 4.5B  

Question 1:  easy, most students should be able to answer.

Correct answer, c, for a given mass at constant pressure, volume is directly proportional to temperature.
Distracter a, incorrect association with combining gas laws

Distracter b,  incorrect association with combining gas laws

Distracter d,  incorrect association with combining gas laws

Question 2:  easy, most students should be able to answer.

Correct answer b, Gay-Lussac's Law states that the pressure of a sample of gas at constant volume, is directly proportional to its temperature in Kelvin.
Distracter a, incorrect association with gas law relationships

Distracter c, incorrect association with gas law relationships

Distracter d, incorrect association with gas law relationships

Question 3: easy, most students should be able to answer.

Correct answer d, temperature must be in Kelvins.
Distracter a, incorrect association with gas law formula
Distracter b, incorrect association with gas law formula
Distracter c, incorrect association with gas law formula
Question 4: easy, most students should be able to answer

Correct answer a, (
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c -273.15)
Distracter b, incorrect usage of formula

Distracter c, incorrect usage of formula

Distracter d, incorrect usage of formula

Question 5: difficult some students will be able to answer
Correct answer c, 

P
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 /T
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= P
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/T
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  (136.4kPa) (288.45 
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K)/394.75 
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K = 99.67 kPa
Distracter a, incorrect manipulation of formula

Distracter b, incorrect manipulation of formula

Distracter d, incorrect manipulation of formula
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